

ROMANIAN MATHEMATICAL MAGAZINE

J.2427 If $x, y, z > 0, x + y + z = 3$, then:

$$2 \sum_{\text{cyc}} x \left(y + \frac{1}{y} + \frac{1}{y^3} \right) \geq 3 \sum_{\text{cyc}} \frac{x}{y^2} + 9.$$

Proposed by Daniel Sitaru – Romania

Solution by Titu Zvonaru-Romania

Applying *AM – GM* inequality and Radon's inequality, it follows that:

$$\begin{aligned} 2 \sum_{\text{cyc}} x \left(y + \frac{1}{y} + \frac{1}{y^3} \right) &\geq 2 \sum_{\text{cyc}} \left(xy + \frac{2x}{y^2} \right) = 2 \sum_{\text{cyc}} xy + 3 \sum_{\text{cyc}} \frac{x}{y^2} + \sum_{\text{cyc}} \frac{x}{y^2} = \\ &= 2 \sum_{\text{cyc}} xy + 3 \sum_{\text{cyc}} \frac{x}{y^2} + \sum_{\text{cyc}} \frac{x^3}{(xy)^2} \geq 2 \sum_{\text{cyc}} xy + 3 \sum_{\text{cyc}} \frac{x}{y^2} + \frac{(x+y+z)^3}{(xy+yz+zx)^2} = \\ &= 3 \sum_{\text{cyc}} \frac{x}{y^2} + (xy+yz+zx) + (xy+yz+zx) + \frac{27}{(xy+yz+zx)^2} \geq \\ &\geq 3 \sum_{\text{cyc}} \frac{x}{y^2} + 3 \left((xy+yz+zx) \cdot (xy+yz+zx) \cdot \frac{27}{(xy+yz+zx)^2} \right)^{\frac{1}{3}} \geq 3 \sum_{\text{cyc}} \frac{x}{y^2} + 9. \end{aligned}$$

Equality holds if and only if $x = y = z = 1$.